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Gﬂﬂerul Inatrunn‘ans : d
R"’d ”'tfollnming 1
ing
i ; tructfuna very caref,
ully angd follow then, :

All Questions gre
) Quesy
. 4R paper is divided :
| d
A ed into FIVE SECTIONS - Section A, B, C. D

ﬁl'l:l' Section A _ '
_ . A - question number I to 12 are Multiple Choice type

Questions. Eqeh question carries I mark.

= ey

a0 to 60 words.

(v) Section C - Question number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question
in 100 to 120 words.

(vi) Section D - question number 24 to 26 are Passage, Cartoon and Map-
based questions. Answer each question accordingly.

(vit) Section E - question number 27 to 30 are Long Answer type-II

questions. Each question carries 6 marks. Write answer to each question

in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice

has been provided in few questions. Only one of the choices in such

questions has to be atiempted.

In addition to this, note that a separate question has been provided for

Visually Impaired candidates in lieu of questions having visual inpuls,

Map ete. Such questions are to be attempted by Visually Impaired

~ @ Page|3| ® ~
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SECTION - A
u
Question Nos. 1 to 12 are Multiple CK
e oice type questions carrying
| 12%1=12
1. Given below are two statements :

Statement-I :
t-I : There were sections of Soviet society which felt that

G"ﬂ’f“he"'. should have moved much faster and were disappointed
and impatient with his methods.

Statement-II : Communist Party and those who were served by the
system felt that their power and privileges were eroding and
Gorbachev was moving too quickly.

Option : |

(A) Both Statement-I and Statement-II are true.

(B) Both Statement-I and Statement-11 are false.

(C) Statement-I is true, but Statement-11 is false.
{D} Statement-I is false, but Statement-11 is true.

'thmh leader played an important role in the disintegration and coup
against Soviet Union ?

) Boris Yeltsin (B) Nikita Khrushches
(€) John F. Kennedy (D) Joseph Stalin
3 3. Ir the 'fo'llnwihg question, a statement of Assertion (A) is followed by a
i correct answer :

A- I ant of Reason (R). Choose the appropriate option as

sse ion (,A) The government suspended the freedom of press and
unplemented press censorship during emergency in
1975.

n (R): Newspapers pmtested

cartoons only.

against censorship by showing the

|"|II I Erﬂwhmdmw

3oth and the Reason (&)
3oth the Assertion (A) Assertion (Mm- + ¢ the Rease?

» { the
) is the @rrect ﬂtplaﬂﬂ“““ “ ) are correc
gﬂ tha nd the Reason (R aeruﬂﬂ A




4. On which one of the m

(A) Internal distyy

bances

(C)  Armed rebellion

(D) External Aggression

statements given below :

(A)
of Homi J. Bhabha.

(B) India was in support of the NPT,

following basis WAs8 emergency declared in 1975 ?

(B) External threat

Choose the torrect statement about India's

nuclear policy from the

India’s nuclear programme was started in 1952 under the guidance

(C) Now India has made it clear that the policy of ‘no first use’ can be

reviewed.

i
(D) Nehru was not against nuclear weapons.

SN

R 2 ]

(B) Bharatiya Jan Sangh
© Socialist Party
f?'? Swatantra Party

y

(©) Blectronic Voting Machine
-i'a  Election Voting Machine

ich political party won 16 Lok Sabha seats and was at second place in

- ~ @ Page|7| @ ~
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8. Choose the correct option to fill in the blanks :

Indira Gandhi and Z.A. Bhutto signed agreement in the year

Options :
(A) War, 1971 (B) Peace, 1971
(C) Shimla, 1971 (D) Shimla, 1972

9. Match the terms given in Column-A correctly with Column-B and choose
the correct answer from the codes given below :

Column-A Column-B
(a) | Balance of Power (i) | Giving up certain types of weapons
(b) | Disarmament (1) | Security
(¢) | Migration (iii) | Traditional security
'| (d) | Freedom from threats /| (iv) | New source of threat

Codes :

: C @ B © (d)
@ @) O (v 6

| B Gy 0 Gi) GG

? © (v Gi) G @

| {Dh) @) Gy) GiD) @)

10. Arrnnge the following in chronological order of their h&pp.gnmg :
g) India-China War
ﬁJJ India’s first test of a nuclear device
f“%) Terrorists attack on World Trade Centre in America

:i I. Thﬂ Anti-Ballistic Missile Treaty '

the correct option :

(iii), G¥) (B) (), (i\r}, (i.u'} ﬁ)
(@), (i) (D) (1). ﬁ")}(ﬁ) (i) e @

"i—\.q.
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11. Which one ampy m

B the follaws
™ - u
gas emsesiong 9 ng Bgreements Was b oy

(A) Antaretie Treaty = =4 :

(B) Kyoto Protocg)

(C) Montrea] Protoco)

(D) Antarctic Envimnmental Protocol
12. Agenda-23 contains a |jgt of

(A) globa) commong i

| (B) development practices
(©)  polluting Practices (D) developed countries
SECTION - B P

13. State any two major policy decisions taken by the Chinese leadership in

the 1970s.

inalyse the Congress Party as an ideological coalition.

Explain any two reasons for the split in the Janta Party in 1879.

éugﬁg&at any two ways to reduce economic disparity between the poor and

| the rich countries at the global level.

o) 3 L
Explain any two differences between the First Five Year Plan and Secon

Five Year Plan.
itional Security. =
18. State any two methods of Trad e p.T.O.*
= ~ @Ppage|1N|® ~
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SECTION - C EI
9.
. (a) Elplﬂln&h}*t'n't}t#umm for the beginning of a long phase of
politics in India since 1989,
OR

®)  Explain the role of ‘Other Backward Classes' in the Indian politics.

_ ufpm}mng China to wmaka the US America to
e the warld'i largest economy.

OR

le the Chinese economy has improved, not everyone in China
ived the benefits of the reforms” Analyse any two reasons for

_ ;“u ' 1: ;&simmtofglobnhsauunanthelndmnnultm
Pl ¥
“F il ,..

i F ghligh t any four Directive Principles of State Policy that have been
in ded in the Constitution of India for International peace and security.

~ @Page|13|® ~ P.T.0.*
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SECTION-D dx4=12

24. Study the gi
- given pi '
picture and answer the questions that follow :
(The giv ' rieh b
ElvVen cartoon 18 about USA's invasion on a Gulf Country,)

NOW THAT WE'VE DESTROVED YOUR
il COUNTRY, YOU CAN PAY
US To REBUILD IT.

ﬁ:nunﬂiu | 8
OlL, As PAYMENT,

Which one of the following is the most important resource in

(24.1)
: global strategy ?

N Water ® Oil
e band (D) Automobile

(24.2)  Which of the following regions accounts for about 30% of global oil
production ?
(4) Europe (B) China
(C) Gulf Region (D) Japan

{243} Which Gulf country was invaded by US America ?
(A) Iraq (B) Saudi Arabia
(C) Kuwait (D) Iran

(24.4) What was the objective of the United States of America to attack
the Gulf country ?
(A) To get control on the oil resources
(B) To get the territory of a country
(C) To establish its army headquarters |
(D) To stop USSR from entering this region =

59/2/3 ~ @Pagel|ls|® ~ P.T.0.
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Vote: _ The following questions are only for the Visually Impaired
Candidates in lieu of question number 24. 141+1+41=4

: *(‘hﬁ} Name the largest oil producer country.

(24.2)  Which region produces 30% of the total oil produced in the

world 7
(24.3) Which Gulf country was invaded by USA?

(24.4) Explain the objective of the US to attack the Gulf country.

er the questions that
1+1+1# 1=4
dependence and

The Central Asian yepublics did not ask for in
' In December 1991, under

wanted to remain with the Soviet Federation. mber
the leadership of Yeltsin, Russia, Ukraine and Belarus tiﬁeiam'l_ _that the
nior lishan , URIH® ¢ Party of the Soviet Union

95. Read the passage given below carefully and answ

- follow :

o the disintegration of the USSR
Comm States (CIS)
pecially to the Central Asian

formation of

a surprise to

_adopted by the post-Soviet countries ?
B Capitalist and Democratic
(D) Democratic
g became the aucceqﬁuri:- of the

(&) Socialist
(O Cﬂmm:m:u.ﬂt .
Which republic among the followin

e of the following is 2 Central Asian country ?
jikistan ©) Crechoslovakia

| psrﬁﬁfso'd’lﬂ viet Union had vast hydroc,ar’bo yon resources ?
'(B) Central Asian Republics

() Yugoslavia A D) Czechoslovakia

p.T.0."
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26. In the given political outline map of India; fouyr
as (A), (B), (C

) and (D). [dentify )
information giv

en below and write the
book along with the

states have been

marked
1e8e states on the basis

of the
ir correct names N YOur answer.

era of the information used and
bets as per the format that follows MRS L 1=4
Serimﬁﬁmm?ﬁ_ Alphabet - Name of the
information used concerned Statg;a___ )
(& 5 T .
(11) R 1 |
(1) _ S 3 ]
| (iv)

i) The state, where the assassination of Rajiv Gandhi took place,
(1} gtate where Karpoori Thakur was a Chief Minister, o
) E.:E atatﬂ where UPA won the majority of seats in Lok Sabha
(u) The siaic

e 2004, : S
- :al__ state where Bahujan Samaj Party (BSP) achieved a
av hThe kthrough in 1989 & 1991 elections,

P.TJ:U' .
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C are op]
ﬂndldﬂms in liey of Y for the v!mmlf&, I ; a
question numbe, 2. N mpaired
ame the followin
g:
1+l+1+l=4

(2 L]

Was assasainated.

(26.2) N
ame the state where Karpoori Thakur was a Chief Minister

26.3 N
(26.3) ame the state where Bahujan Samaj Party (BSP) achieved a

breakthrough in 1989 & 1991 elections.

(26.4) Name the alliance that formed government at the centre in

1989.
SECTION - E 4xG=124
97. (a) Describe any three circumstances under which the State
gx2=6

Reorganisation Commission was constituted.

between

‘commonalities and two differences
3+3=86

,ﬁ@ E;plam any two
- aneladesh and Pakistan in their democratic erpenﬁﬂﬂﬂﬂ

OR
any two issues of co-operation and WO issues of
3+3=6

ﬂtion between India and Bangladesh.

P.T.O.
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